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24. Determine all values of the constant k for which the
following system has (a) no solution, (b) an infinite
number of solutions, and (c) a unique solution.
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An n x n system of linear equations whose ma-
trix of coefficients is a lower triangular matrix is
called alower triangular system. Assuming that
a;ji # 0 for each 7, devise a method for solving
such a system that is analogous to the back sub-
stitution method.
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For Problems 14, verify by direct multiplication that the
given matrices are inverscs of one another.
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For Problems 5-18, determine A~', if possible, using the
Gauss-Jordan method. If A~! exists, check your answer by
verifying that AA™" = I,,.

= 12
D'Aflil 3]

2. A

S et

For Problems 2126, use A~ to find the solution to the given
system.
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For Problems 2-6, determine elementary matrices that re- 14. Determine elementary matrices Ei, E, ..., Ey that
duce the given matrix to row-echelon form. reduce
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For Problems 7-13, express the matrix A as a product of

elementary matrices. For Problems 16-21, determine the LU factorization of
the given matrix. Verify your answer by computing the
7. A :|: i ; j| product LU.
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For Problems 22-25, use the LU factorization of A to solve
the system Ax = b.
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28. If P = P P,... P, where each P; is an elementary
permutation matrix, show that P~! = pT

% Permutotion: Pr= Pt = PT

N A M AR A AN A
= (RR~P)=pT



